



Infinite Double Integral Representation for the Polynomial Set

Geeta Kumari* & Brijendra Kumar Singh**

Department of Mathematics

J.P. University, Chapra

*Email : geetakumari785@gmail.com

**Email : brijendrakumarsingh111956@gmail.com

Mob : 09430032449

Abstract:

In the present paper, an attempt has been made to express a Infinite Double Integral Representation for the Polynomial set $D_n\{(x_k), y\}$. Many interesting new results may be obtained as particular cases on separating the parameters.

AMS subject classification: Special Function-33(C)

Keywords: Integral Representation, Hypergeometric functions, Lauricella function, Legendre polynomial.

I. Introduction :

We define the certain hypergeometric polynomial set of n-variables by means of generating functions.

$$(\xi + vt^e)^{-\sigma} F \left[\begin{matrix} (a_r) \\ (b_s) \end{matrix} \middle| \mu_1 y^{-e_1} t^{e_1} \right]$$

$$F \left[\begin{matrix} (A_p); (\alpha_g); (\gamma_{u_k}) \\ \mu x_1^{f_1} t, \mu_2 x_2^{e_2} y^{-e_2} t^{e_2} \dots \dots \mu_k x_k^{e_k} t^{e_k} \\ (B_q); (\beta_h); (\delta_{v_k}) \end{matrix} \right]$$

$$\sum_{n=0}^{\infty} D_{n,e;e_1,e_2,\dots,e_k,r_1;(b_s);(B_q);(\beta_h);(\delta_{v_k})}^{v;\xi,\sigma;\mu;\mu_1;\mu_2,\dots,\mu_k;(\alpha_r)(A_p);(\alpha_g);(\gamma_{u_k})} \left\{ (x_k), y \right\} t^n. \tag{1.1}$$

Where $v, \xi, \sigma, \mu, \mu_1, \mu_2, \dots, \mu_k$ are real and $e, e_1, e_2, \dots, e_k, r_1$ are non-negative integers.

The left hand sides of (1.1) contains the product of generalized hypergeometric functions involving Lauricella functions in the notation of Burchhall and Chaundy [1]. The generalized polynomial set contains a number of parameters, for simplicity we shall denote it

$$D_{n,e;e_1,e_2,\dots,e_k,r_1;(b_s);(B_q);(\beta_h);(\delta_{v_k})}^{v;\xi,\sigma;\mu;\mu_1;\mu_2,\dots,\mu_k;(\alpha_r)(A_p);(\alpha_g);(\gamma_{u_k})} \left\{ (x_k), y \right\} \text{ by } D_n \left\{ (x_k), y \right\}.$$

Where n denotes the order of the generalized polynomial set $D_n \left\{ (x_k), y \right\}$.

After little simplification (1.1) gives.

$$\begin{aligned} D_n \left\{ (x_k), y \right\} &= \xi^\sigma \sum_{m=0}^{\lfloor \frac{n}{e} \rfloor} \sum_{m_1=0}^{\lfloor \frac{n-em}{e_1} \rfloor} \sum_{m_2=0}^{\lfloor \frac{n-em-e_1m_1}{e_2} \rfloor} \dots \sum_{m_k=0}^{\lfloor \frac{n-em-e_1m_1-\dots-e_{k-1}m_{k-1}}{e_k} \rfloor} \\ &\times \frac{\left[(A_p) \right]_{n-em-e_1m_1-(e_2-1)m_2-\dots-(e_k-1)m_k} \left[(\alpha_g) \right]_{n-em-e_1m_1-e_2m_2-\dots-e_km_k}}{\left[(B_q) \right]_{n-em-e_1m_1-(e_2-1)m_2-\dots-(e_k-1)m_k} \left[(\beta_h) \right]_{n-em-e_1m_1-e_2m_2-\dots-e_km_k}} \\ &\times \frac{\left[(\gamma_{u_k}) \right]_{m_k} \left[(a_r) \right]_{m_1} (\sigma_m)_m (-v)^m \mu_1^{m_1} (\mu_2 x_2^{e_2})^{m_2} \dots (\mu_k x_k^{e_k})^{m_k}}{\left[(\delta_{v_k}) \right]_{m_k} \left[(b_s) \right]_{m_1} \xi^m m! m_1! y^{e_1m_1+e_2m_2} m_2! m_k!} \\ &\times \frac{(\mu x_1^{r_1})^{n-em-e_1m_1-e_2m_2-e_3m_3-\dots-e_km_k}}{(n-em-e_1m_1-e_2m_2-\dots-e_km_k)!} \end{aligned} \tag{1.2}$$

2. Notations

- (i) $(n) = 1, 2, \dots, n-1,$
- $(a_p) = a_1, a_2, \dots, a_p$

$$(ii) \quad \left[(a_p) \right] = a_1, a_2, \dots, a_p.$$

$$\left[(a_p) \right]_n = (a_1)_n, (a_2)_n, \dots, (a_p)_n.$$

$$\Gamma \left[a + \frac{(m)}{m} \right] = \prod_{r=1}^m \Gamma \left(a + \frac{r}{m} \right).$$

$$\Gamma \left[a + \frac{(m) + (b_q)}{m} \right] = \prod_{r=1}^m \prod_{i=1}^q \Gamma \left(a + \frac{r + b_i}{m} \right).$$

$$(iii) \quad \Gamma \left[(m : (a_p)) \right] = \prod_{i=1}^p \prod_{r=1}^m \Gamma \left(\frac{a_j + r - 1}{m} \right).$$

$$\Gamma [(a; b)] = \prod_{r=1}^a \Gamma \left(\frac{b + r - 1}{a} \right).$$

$$\Gamma \left[a + \frac{(m)}{m} \right] = \prod_{r=1}^m \Gamma \left(a + \frac{r}{m} \right).$$

$$\Gamma \left[a + \frac{(m) + (b_q)}{m} \right] = \prod_{r=1}^m \prod_{i=1}^q \Gamma \left(a + \frac{r + b_i}{m} \right).$$

$$(iv) \quad \Gamma \left[(m : (a_p)) \right] = \prod_{i=1}^p \prod_{r=1}^m \Gamma \left(\frac{a_j + r - 1}{m} \right).$$

$$\Gamma [(a; b)] = \prod_{r=1}^a \Gamma \left(\frac{b + r - 1}{a} \right).$$

$$(v) \quad \Gamma(a \pm b) = \Gamma(a + b) \Gamma(a - b).$$

$$\Gamma_{**}(a + b) = \Gamma(a + b) \Gamma(a + b).$$

3. Theorem: For $e_2 > 1, \dots, e_k > 1$

$$D_n\{(x_k), \mathcal{Y}\} = \frac{4 \sigma_1^a \sigma_2^b \xi^\sigma}{\Gamma(\alpha) \Gamma(b)} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)}$$

$$\begin{aligned} & \times F_{q+h+s: u_1, u_2, \dots, u_k}^{1+p+g+r: V_1, V_2, \dots, V_k} \left[\begin{matrix} [-n; e, e_1, e_2 \dots \dots e_k] \\ \hline \end{matrix} \right. \\ & [(1 - (B_q) - n): e, e_1, e_2 - 1 \dots e_k - 1], [(1 - (\beta_h) - n): e, e_1, e_2 \dots e_k], \\ & [(1 - (A_p) - n): e, e_1, e_2 - 1 \dots e_k - 1], [(1 - (\alpha_g) - n): e, e_1, e_2 \dots e_k], \\ & [(\alpha_r) : 1], [(\gamma_{u_1}) : 1][(\gamma_{u_2}) : 1] \dots [(\gamma_{u_k}) : 1], [\sigma : 1], \\ & [(b_s) : 1], [(\delta_{V_1}) : 1], [(\delta_{V_2}) : 1] \dots [(\delta_{V_k}) : 1], \\ & \times \frac{-v(-1)^{e(r+s+p+q+g+h+1)}}{\xi(\mu x_1^{r_1})^e}, \frac{\mu_1(-1)^{e_1(r+s+p+q+g+h+1)}}{(\mu x_1^{r_1} y)^{e_1}}, \\ & \times \frac{\mu_2 x_2^{e_2} (-1)^{e_2(r+s+p+q+g+h+1)+p+q}}{(\mu x_1^{r_1} y)^{e_2}}, \dots \dots \dots \\ & \times \left. \frac{\mu_k x_k^{e_k} (-1)^{e_k(1+r+s+g+h+p+q+1)+p+q}}{(\mu x_1^{r_1})^{e_k}} \right] ded\xi \quad \dots \dots (3.1) \end{aligned}$$

Proof:

$$\begin{aligned} I &= \xi^\sigma \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)} \sum_{m=0}^{\lfloor \frac{n}{e} \rfloor} \sum_{m_1=0}^{\lfloor \frac{n-em}{e_1} \rfloor} \sum_{m_2=0}^{\lfloor \frac{n-em-e_1 m_1}{e_1} \rfloor} \dots \dots \\ & \times \sum_{m_k=0}^{\lfloor \frac{n-em-e_1 m_1 - e_2 m_2 - \dots - e_{k-1} m_{k-1}}{e_k} \rfloor} \frac{[(A_p)]_{n-em-e_1 m_1 - (e_2-1)m_2 - \dots - (e_k-1)m_k}}{[(B_q)]_{n-em-e_1 m_1 - (e_2-1)m_2 - \dots - (e_k-1)m_k}} \end{aligned}$$

$$\begin{aligned}
 & \times \frac{[(\alpha_g)]_{n-em-e_1m_1-e_2m_2\dots e_k m_k} [(a_r)]_m [(\gamma_{u_1})]_{m_1} [(\gamma_{u_2})]_{m_2} \dots [(\gamma_{u_k})]_{m_k}}{[(\beta_h)]_{n-em-e_1m_1-e_2m_2\dots e_k m_k} [(b_s)]_m [(\delta_{v_1})]_{m_1} [(\delta_{v_2})]_{m_2} \dots [(\delta_{v_k})]_{m_k}} \\
 & \times \frac{(\sigma)_m (-v)^m \mu_1^{m_1} (\mu_2 x_2^{e_2})^{m_2} \dots (\mu_k x_k^{e_k})^{m_k} \sigma_1^{m_1} \sigma_2^{m_2}}{\xi^m m! m_1! \gamma^{e_1 m_1 + e_2 m_2} m_2! (m_k)! (a)_{m_1} (b)_{m_1}} \\
 & \times \frac{(\mu x_1^{r_1})^{n-em-e_1m_1-e_2m_2\dots e_k m_k}}{(n-em-e_1m_1-e_2m_2\dots e_k m_k)} d e_1 d \xi_1 \\
 = & \xi^\sigma \sum_{m=0}^{\lfloor \frac{n}{e} \rfloor} \sum_{m_1=0}^{\lfloor \frac{n-em}{e_1} \rfloor} \sum_{m_2=0}^{\lfloor \frac{n-em-e_1m_1}{e_2} \rfloor} \dots \dots \sum_{m_k=0}^{\lfloor \frac{n-em-e_1m_1-e_2m_2\dots e_k m_{k-1}}{e_k} \rfloor} \\
 & \times \frac{[(A_p)]_{n-em-e_1m_1-(e_2-1)m_2\dots (e_k-1)m_k} [(\alpha_g)]_{n-em-e_1m_1-e_2m_2\dots e_k m_k}}{[(B_q)]_{n-em-e_1m_1-(e_2-1)m_2\dots (e_k-1)m_k} [(\beta_h)]_{n-em-e_1m_1-e_2m_2\dots e_k m_k}} \\
 & \times \frac{[(a_r)]_m [(\gamma_{u_1})]_{m_1} [(\gamma_{u_2})]_{m_2} \dots [(\gamma_{u_k})]_{m_k} (\sigma)_m (-v)^m \mu_1^{m_1} (\mu_2 x_2^{e_2})^{m_2}}{[(b_s)]_m [(\delta_{v_1})]_{m_1} [(\delta_{v_2})]_{m_2} \dots [(\delta_{v_k})]_{m_k} \xi^m m! m_1! \gamma^{e_1 m_1 + e_2 m_2}} \\
 & \times \frac{\dots (\mu_k x_k^{e_k})^{m_k} \sigma_1^{m_1} \sigma_2^{m_2} (\mu x_1^{r_1})^{n-em-e_1m_1-e_2m_2\dots e_k m_k}}{m_2! m_k! (a)_{m_1} (b)_m (n-em-e_1m_1-e_2m_2\dots e_k m_k)!} \\
 & \times \int_0^\infty \int_0^\infty e_1^{2a-1+2m_1} \xi_1^{2b-1+2m_1} e^{-(\sigma_1 e_1^2 \sigma_2 \xi_1^2)} d e_1 d \xi_1 \\
 = & \xi^\sigma \sum_{m=0}^{\lfloor \frac{n}{e} \rfloor} \sum_{m_1=0}^{\lfloor \frac{n-em}{e_1} \rfloor} \sum_{m_2=0}^{\lfloor \frac{n-em-e_1m_1}{e_2} \rfloor} \dots \dots \sum_{m_k=0}^{\lfloor \frac{n-em-e_1m_1-e_2m_2\dots e_k m_{k-1}}{e_k} \rfloor}
 \end{aligned}$$

$$\begin{aligned}
 & \times \frac{[(A_p)]_{n-em-e_1m_1-(e_2-1)m_2 \dots (e_k-1)m_k} [(\alpha_g)]_{n-em-e_1m_1-e_2m_2 \dots e_k m_k}}{[(B_q)]_{n-em-e_1m_1-(e_2-1)m_2 \dots (e_k-1)m_k} [(\beta_h)]_{n-em-e_1m_1-e_2m_2 \dots e_k m_k}} \\
 & \times \frac{[(\alpha_r)]_{m_1} [(\gamma_{u_1})]_{m_1} [(\gamma_{u_2})]_{m_2} \dots [(\gamma_{u_k})]_{m_k} (\sigma)_m (-v)^m \mu_1^{m_1} (\mu_2 x_2^{e_2})^{m_2}}{[(b_s)]_{m_1} [(\delta_{v_1})]_{m_1} [(\delta_{v_2})]_{m_2} \dots [(\delta_{v_k})]_{m_k} \xi^m m! m_1! y^{e_1 m_1 + e_2 m_2}} \\
 & \times \frac{\dots (\mu_k x_k^{e_k})^{m_k} (\mu x_1^{r_1})^{n-em-e_1m_1-e_2m_2 \dots e_k m_k} \sigma_1^{m_1} \sigma_2^{m_2} \Gamma(a+m_1) \Gamma(b+m_1)}{m_2! 4(a)_{m_1} (b)_{m_1} m_k! (n-em-e_1m_1-e_2m_2 \dots e_k m_k)! \sigma_2^{a+m_2}} \\
 & = P \frac{\Gamma a \Gamma b}{4 \sigma_1^a \sigma_2^b} \sum_{m, m_1, m_2, \dots, m_k=0}^{\infty} \frac{[1-(B_q)-n]_{n-em-e_1m_1-(e_2-1)m_2 \dots (e_k-1)m_k}}{[1-(A_p)-n]_{n-em-e_1m_1-(e_2-1)m_2 \dots (e_k-1)m_k}} \\
 & \times \frac{[1-(\beta_h)-n]_{em+e_1m_1+e_2m_2 \dots e_k m_k} [(\alpha_r)]_{m_1} [(\gamma_{u_1})]_{m_1} [(\gamma_{u_2})]_{m_2} \dots [(\gamma_{u_k})]_{m_k}}{[1-(\alpha_g)-n]_{em+e_1m_1+e_2m_2 \dots e_k m_k} [(\delta_{v_1})]_{m_1} [(\delta_{v_2})]_{m_2} \dots [(\delta_{v_k})]_{m_k}} \\
 & \times \frac{(-n)_{em-e_1m_1-e_2m_2+\dots+e_k m_k} (-v)^m (-1)^{e(r+s+p+q+g+h+1)m}}{\xi^m m! (\mu x_1^{r_1})^{em}} \\
 & \times \frac{\mu_1^m (-1)^{e_1(r+s+p+q+g+h+1)m_1}}{(\mu x_1^{r_1} y)^{e_1 m_1}}, \frac{\mu_2 x_2^{e_2} (-1)^{e_2(r+s+p+q+g+h+1)+p+q} m_2}{(\mu x_1^{r_1}, y)^{e_2 m_2}} \\
 & \dots \dots \dots, \frac{\mu_k x_k^{e_k} (-1)^{e_k(r+s+p+q+g+h+1)+p+q} m_k}{(\mu x_1^{r_1})^{e_k m_k}} \dots (3.2)
 \end{aligned}$$

The Single terminating factor $(-n)_{em+e_1m_1+e_2m_2+\dots+e_km_k}$ makes all summation in (3.2) run upto ∞ and we finally arrive at

$$= P \frac{\Gamma(a)\Gamma(b)}{4 \sigma_1^a \sigma_2^b} D_n\{(x_k), \mathcal{Y}\}$$

Hence the theorem

On using(156)

$$\int_0^\infty \int_0^\infty e^{2a-1} \xi^{2b-1} e^{-(\sigma_1 e^2 + \sigma_2 \xi^2)} de d\xi = \frac{\Gamma a \Gamma b}{4 \sigma_1^a \sigma_2^b} \dots (3.3)$$

Particular Cases of 3.2

(i) For $p=0=q=g=h=u_2=v_2; \sigma=1=\xi=v=r_1=y, \mu=2=e_2; \mu_2=-1$ in (3.1), we get

$$H_n(x) = \frac{4 \sigma_1^2 \sigma_2^2 (2x)^n}{n! \Gamma a \Gamma b} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)}$$

$$\times F \left[\begin{matrix} \frac{-n}{2}, \frac{-n}{2} + \frac{1}{2}; \\ -\frac{\sigma_1 \sigma_2}{x^2} \end{matrix} \right] de_1 d\xi_1$$

$$(a: 1), (b: 1)$$

(ii) On taking $p=0=q=g=h=u_2; v_2=1=\xi=\sigma=v=r_1=e=\delta, =y=\mu; \mu_2 = \frac{1}{4}, =2$ and $\frac{x}{\sqrt{x^2-1}}$ for x_1 we achieve

$$P_n(x) = \frac{4 \sigma_1^2 \sigma_2^2 x^n}{n! \Gamma a \Gamma b} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)}$$

$$\times F \left[\begin{matrix} \frac{-n-n+1}{2}, \frac{-n-n+1}{2} \\ 1, (a:1), (b:1) \end{matrix} ; \frac{(x^2-1)}{x^2} \sigma_1 \sigma_2 \right] de_1 d\xi_1$$

(iii) On making the substitution $p=0=q=u_2=v_2; h=1=y=v=\xi=e=r_1=\sigma; e_2=2=\mu; g=\{1,2\}, \mu_2=1; \alpha_1=\alpha; \alpha_2=\beta; \beta_1 = \alpha + \beta$ in (3.1) arrive at

$$G_n(\alpha, \beta; x) = \frac{4 (\alpha)_n (\beta)_n (2x)^n \sigma_1^2 a_2^2}{n! (\alpha+\beta)_n \Gamma a \Gamma b}$$

$$\times F \left[\begin{matrix} \frac{-n-n+1}{2}, \frac{-n-n+1}{2}, 1-\alpha-\beta-n; \\ 1-\alpha-n, 1-\beta-n, (a:1), (b:1); \end{matrix} ; \frac{\sigma_1 \sigma_2}{x^2} \right] de_1 d\xi_1$$

(vi) On putting $q=0=h=u_2=p; v_2=1=\xi=\sigma = v=r_1=e=y= \xi; g=\{1,2\}, \alpha_1=1=\alpha_2= v, \delta_1= v; e_2=2= \mu; \mu_2=-1$ and z for x_1 in (3.1), we get

$$R_{n,v} \left(\frac{1}{2} \right) = \frac{4 \sigma_1^a \sigma_2^b (v)_n (2Z)^n}{n! \Gamma a \Gamma b} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)}$$

$$\times F \left[\begin{matrix} \frac{-n-n+1}{2}, \frac{-n-n+1}{2} \\ -n, 1-v-n, v, (a:1), (b:1); \end{matrix} ; \frac{\sigma_1 \sigma_2}{z^2} \right] de_1 d\xi_1$$

(v) On putting $q=0=h=y=u_2=v_2= \sigma; p=1=r_1=e= v= \xi=j; e_2=3= \mu; \mu_2=-1 \beta_1 = v$ and $x_1=x$ in (3.1), we get

$$h_n(x) = \frac{4 \sigma_1^a \sigma_2^b (v)_n (3x)^n}{n! \Gamma a \Gamma b} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)}$$

$$\times F \left[\begin{matrix} \Delta(3;-n); \\ \Delta(2;1-v-n),(a:1),(b:1); \frac{\sigma_1\sigma_2}{4x^3} \end{matrix} \right] de_1 d\xi_1$$

(vi) On putting, $a = \frac{1}{2}$, we achive

$$g_n^*(x) = \frac{4 \left(\frac{1}{2}\right)_n \sigma_1^a \sigma_2^b (3x)^n}{n! \Gamma a \Gamma b} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)} \\ \times F \left[\begin{matrix} \Delta(3;-n) \\ \Delta\left(2;\frac{1}{2}-n\right),(a:1),(b:1); \frac{\sigma_1\sigma_2}{4x^3} \end{matrix} \right] de_1 d\xi_1$$

(vii)) On making the substitution $p=0=q=u_2=v_2= \sigma ; \mu=1=r_1=y=v = \xi=e, e_2=3, \mu_2=-1$ and putting $x_1=3y$ we get

$\mu_2=1; \alpha_1=\alpha; \alpha_2=\beta; \beta_1 = \alpha + \beta$ in (3.1) arrive at

$$h_n^*(y) = \frac{4 \sigma_1^a \sigma_2^b (3y)^n}{n! \Gamma a \Gamma b} \int_0^\infty \int_0^\infty e_1^{2a-1} \xi_1^{2b-1} e^{-(\sigma_1 e_1^2 + \sigma_2 \xi_1^2)} \\ \times F \left[\begin{matrix} \frac{-n}{3}, \frac{-n+1}{3}, \frac{-n+2}{3}; \\ (a:1),(b:1); \frac{\sigma_1\sigma_2}{y^3} \end{matrix} \right] de_1 d\xi_1$$

References:

[1] Burchnall, J.L. and Chaundy, T.W. Expansions of Appell's double hypergeometric functions (ii), Quart. J. Math. Oxford Ser. 1941;12;112-118.

[2] Rainville. E.D. Special Functions. Mac Millan Co. New York, (1960) .

[3] Szego, G. Orthogonal polynomials, Amer. Math. Soc. colloquium Publ., vol. 23, Third edition, Amer, Math. Soc. Providence, Rhode Island, (1967).